> BEEHE REBFTA T 078- % 8 &
s JENITH N TRBE/MEBRERITTE T E REEPL (OB r LAY B FLbEH T, T TES 10067 FAXa1 0073 |

— =1=] s S ~{ EI ]\ N 3 - N > — Y > [&ﬂ] R ol
B3~ 2K~ DEES~FUV I~ V0BT ES5~D LY~ LD ES~ZUB N~ DAPC S ~BHERE ~
4 H 5 BH 6 BH 7 BH 8 BH 9 BH 10 B 11 12 B 1 _H 2 H 3 BH
1 1@ (1~3%) 11 957F8#@60 |1 1 T|®15n 2HREEO |1 Tlsn (1-284n) ganue] 1[4515h 1|xe 1|[x%—%= (3%) T[#15h
+ A RlbBEEBEE 15 om~ |t X i =] 7K i AlEhotke egEre) | K £|4AEHIBESHE
2 2 gl (4~64F) 2#%15nh &R (1~4%) |2 2 2 2 2[5h (1-2%4n) gEEzo| 2 2 |EhokE (EREFE) |2|%15h 2
H P E(sxu08 B 7K + AlxEgxsprnms | + X £ BELE (BHEE) +
3 |memsst EpmA2EOO | 3 |FEEaA 3 3 |5 FE#EEAN 5 B 3 3 3 3 |xitmnA 3 3 [Fmoke cexmrRa) |3 3
ABlHEE£ED K T A i =] X o =] 7K T H
414 pEBIBESER 4lxnEYymAE 4 | ExRTHE 4\Ea%E 186 4 4% 150 FHMKXEHKQ |4 4 4 4 4 4 |saEBS
NG FEELBD 7N =] X & A 7K * A X H A
5 [HEEERO S5lzce+mA 5lsisn gmsmse 1 -224m |D |81 BHZTB28E8 5 S[HI15n HHREKO |S|BI 5 TEHG60 5 5|88 (1-3-5%) 5 5 [uaxEeaemEsn~218]5
7K o A 7K + X A B PY & A X
6 [mE=t - sagxt (aHuL) |6 6 [#15n smuamne (1-25an 6 [sF4£mEA 6 6 64 15h 6(sh (1-224n) gawno| 6 |S8E 2-4-64) 6 6 6|41
KAz Qgxrgss |+ R|ERIED (4 - 55) A B 7K i A 7K + PY 7K
TI#15n 1E8£THisa| 7 T|w1sn smznue -25am | T[H 15N 7 TE1 ZE2EHO 7 Tlsn (1-25an gamEse| 1|81 v57380 (REas) |7 TE1 ZE2EHO T|FHRE>F21LD
& =] KlE#gs (2 - 34) EA[5360) A X T PN X =] K X
8 8 8|1 ZELEHO 8 8 8#%15h WHED 8 8|41 8#%15h WHED 8 |mADAE 8lH1EL£1BASE 8% 15h
+ A AlE#gs (1 - 64) + X i B 7K % A N £ | HEDSK
9 9 IE15h BEQ 9 9 9 9|xH—voAa 9 |#15n guaEnD (1-254n) | 9 9 Ol515h 9
B P £[EZRFHE sru08  |H 7K + A X T P o +
101 &4 FicigEQ 10[4% 1 fsiRiTiRES 10 10|sh (1-2%4h) 10|54/ B 10 10(eimzamExs @k |10|s1sh gusnse (1-264m) |10 10 10 10
Bla#&RiE3E Klmags (2-4-6% |E A 7N H PN i H 7K + =]
Man 1xerirmse wcesms 11451 11 115h (1-2%4n) 1Mo B 11 11451 11 115h (1-2%4n) 11 11|(zEzz0A 11
Kl|gtmzs - o mumus | K|V S5 ITEHO GrE4ss) | H X & A 7K + A X H A
12(851 12[#15h 12|s15n mezmme (1-224m |12]5h (1 - 244 h) 12 12 121451 ZE£EHE 12 12|5h (1-2%4h) 12 12|fR &% B 12
Kigkae1 - 24 E(mige (1 -3-54 |A KlzgxEmam~208 |t P X H X = A Py
13|z 1% 13 13|w15n susnue (1-224n |13|8% 1 FELEHO 13 13|45 1 13 15h 13[s15n suzmse (1-264m |13415h (1-2%&4h) |13 13| FRE>F42 4 LB 13
ENELS Y3 + X N B 7K i A 7K + PY 7K
14| 15n 2n72F Q~625) |14 14|15 guzvpe 1-224m |14[415h 14| rFA 14151 45 IF8HG60 14 145150 gussse 126040 |14|851 ZELZEHO 14 14 14
Fl euermass momss |H 7K o A Klgnae14 + X 7N =] 7K X
15 15| @By a4 B HRIZ 15|%1 »57F8HB®60 |15 15|54 B 15|41 5 h 15 15|#15n musnue (1-224n |1D[4% 15 h 15|m1an semmsst weanL) |15|heR—A AR 15|4%15h
+ A |#EE% (~268) A + X E|BHAE2E B 7K 4 A A i
16 16 16|41 5 h 16 16 16 16 16[s15n smsspe (1224 |16 16 16|41 5 h 16
H P o H 7K * A X * X & +
17EhBEsF IR 17 17moR 17 17 17 17|4%15h 17 17 17 17
A|suxeegsnn~sa28 |K|gsE81~2508 + A X H P & B 7K T =]
18[#whRE 3 & 18|41 18 18|5h (1-2%4n) 18 18|#EzmRE 18|2TRES (14) 18 18|5h (1-2%4n) 18|z %—%= (64F) 18 18|% 5 o mzg=
KNlemernnnses @ -9 | K|ZELEHO B K[FRA>FE2ALO o A 7K T A X H A
19|1mrmzE24E 19(f#E@ 4 15h 19|64 4 4= = 5HRT 19 15nh (1-2%4nh) |1 19| FRE>F2 4 L@ 19|2ER%RS (26) 19 19(5h (1-2%4n) 19 15h 19 19(5h (1-2%4n)
K[FrE-F21LD i A 7K + KB HBIE 3 E X H K|2@mkERBER~228 |&|32yEmmas: A R|#FERBB~2 58
201 hAES & 20|%5 9 @EHS 20|fe% 147 1 BB (B3)) 205h (1-2%4h) 20 20| HhAE 4 E 20[5h FBRERE (3F) |20|815n sussuo 25040 |20 150 (1-2%4h) |20 20|88 (1-3-5%4) 20|&208
Az (2 - 4%5) * X N H 7K id A 7K + X 7K
214515 h |hpzEesE |21 2141 &%kiT28E 2Mran 12messt wasn  |21|s1an 22mwxz wesw  |21|BHAIES & 21 2|15 gussse ¢ -224m |21[5h (1 - 2% 4n) 21 21(s8B8 (2-4-65F) 21[sh (1 -2%F4h)
& =] K | HkER AlosyxpBess X T PN X =] K X
22(s8B PTA#S 22|fREHhEE 22|6 E££mE#ER 22 22 22|1%15h 22 2|%1 ZELEHOD 22|1%15h 22 22|%1 ZELRE® 22(%15h
+ A A * X E|BHAEE B 7K 4 A A i
23 23| FHBE-FE A L@ 23[%15h BHED 23 23 23[#sroB 23 23|msin B 23 23| 2% —H= (5%) 23|xgi4H 23
H P o H K * A X * X o +
24|14 E 24|41 24 24 1% 1 35 JEH@60 24 Q|xEnks (44F) 24|%15h 24 24|45 1 24 24
A K * A X H P & H 7K * H
25(mHrEIE 5o izgE (154) 25 25 254 15h 25|snxranmsnn~108128 |20|2BHERS (54) 25(psEEE 25(1an ommesst @wanL) |25 25 25[s1an Tt mE wanL
X KNgEEBIRT =] P £ [#E6 A K * Al|28%xERE X =] Al|28%xERE
2641 EheE1-5& |26|4515n 26 26 26 26|54681ES5 - 64 26|3ERERS (64) 26 26 26|4%15h 26 26
7K £\ (1 -3-5% |A 7K + X X =] X £ | BHERS A X
21151 ZELEHOD 27 27|88 (1-3-5%) 27 27 27451 BARES - 4& |2]%515h BHEQ 27 27 27 21|%15h HHFEBED |27
A + X PN B 7K i A 7K + X 7K
2814%515h #WED 28 28|88 (2-4-64) 28 28 28|gikBIE - 24 28 28| FHE-F 2 A LG 28 28 8|#15h FHFEBEQ |28
& |EhBE2F =] 7K i A X + P X =] 7K X
29 29|s15n guzEmpe (1 -224n) |29 29 29| F— LBt 291%15h BHE® 29 29 9|Ekntke HEFa) |29 9% 15h #xEHEQ |29
t|minna A A + X & H 7K & A A &
30 30|5m8 T—ILER 0|#%15h BizEH=E 30 30|41 30 30|eskz A~ 6 B 01 457FHD60  |30[FxothE CeiEFR) |30|RF—%= (44) 30
H Nlsisn gmaese o -2zan |F H K el A S T Py T
31 31 31 3 sh (1-2%an) #EEBO |Exntke (Era) |31 31
KlEa#ugg (2 -54) A X X H K H[2045EA%ZH4/5 (#)

[E3 [E3 [E3 [E3 [E3 [E3 [E3 [E3 [E3 [E3 3 [E3

FEOREEFBRHE 1 &

ELEREXNRE, 284% EFK%30H ZXFK%208

DEFHFLEHELET,
14 TH|i# 20H]1=# 22H|1= H[# H[# 20H]1=# 20H]1=# 20H]1=# TH|i# SHI# Hl'# 1oH =25120/H
3 TH|2= 208 |2= 228 |= =] 3 =] 3 208 |2= 208 |2= 208 |2= TH 2= 3H|# Hl2#= 168 &51207H
34 T 3= 208 |3= 228 3= =] RE3 =] RE3 208 |3= 208 |3= 208 |3= T 3= 3JH|= Hp= 168 &51207H
45 TH 4= 208 |+= 228 |4= =] 3 =] 3 208 |+= 208 |+= 208 |+= TH 4= K=] 3 Hl:= 168 &51207H
54 TH5= 20H 5= 228 |5= 3H|= =] 3 208 |5 208 |5 208 |5 TH5= KI=] 3 Hlo= 168 &51206H
3 18Iz 208 I pal=1 3 Hlsz Hlsz 208 I 208 |5 208 I 18Iz Hls= Hlsz 128 £:1202H




